Homenaje a Fernando del Paso

Palinuro en la escalera

Para cuarteto de cuerdas
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Violoncello

Duracién: 7 minutos



Homenaje a Fernando del Paso

Palinuro en la escalera

Violoncello
Para cuarteto de cuerdas
Oscar Alcala
Burlesco » = 132
pizz. arco pizz.
D — |‘\, = P ﬁ I:I : L
%E:J:ﬂi 7 T —d ——7 o — N—7—¢&
1] | hul v - -
—— : o
5 arco pizz.
) - i\) < y 3 - - < y 3
4 - / PN 1) / PN
- ¢ 2 ¢
P S
9 arco A
2 _— L. . L. S
Y] - = Pod
My O | J < #+® D D >
V4 I 1 e / ' IL ’ T
E—— N— [
S mf
14 . . . — - . . . ; .
® fe he et #:: te o .. o fe e .
“): ! heE H—F——
7 — — 7
< f
18 ; . ) > )
pizz. arco #5 o ﬁ; o
ra X - T 7
)y < Py P Tt 2 (% < i (%
4 / - ] r | b ". j / / /
# — #
22
4
D oy
bl DO | - 4 - )y
7 I 1 Q |
(&) |

Oscar Alcala © 2018



Violoncello

= Hg 1

= Hg 1

28 B

pizz.

arco

pizz.

32|C

arco

pizz.

36

3 X
L&

i
"
g
N
e
A.v
i
)
[
I
[ YHB
>A w
CYONIH
L YEE
q
p_
A
T
v
q
@H._L ®
o~
S ™

44|D




gl

DA

[ H g
o

Violoncello

gl
g

BA

g

col legno
P subito

48
52|E
56

pizz.
>

arco
>

pizz.

arco

pizz.
>

60 nar.
64

&

>




Violoncello

arco

69

$-A

—
|

N-A

_1.>f

Zi. s
hll OO |

72

J..
$-A
LR
N-A
\y
N -Ag
NoD
¥
T8
e
%A
iy
=
N-A
Tree
T8
%l’u
%A
LI
N-A
44 A

75

g
o

%A

i

A

A

%A

N-A

A

g

Lk

1O

$-A

oA

78

N-A

81

'Y
.

84

$-A

N-A

A

L

1O

%A

A

N-A



Violoncello

87

*

.

90

%-A

i

N-A

A

1O

%A

A

N-A

93

§

96

fe

%-A

N-A

N-A

|1|Meno mosso J =104

99

]
|
” g

'Y

103




Violoncello

108

=

113]]]

77

(]

118

I,

|'5|r|lA:

|ql’

123K |Lento assai J. = 52

127

Cy

e

-t

'Y
.

Lh

o e
e

AN

W
o

134




Violoncello

fie o

fo

138

i

=

pizz.

142

arco

WA

M

P

BA

146 M

150

i : I

# gl

[P

153

B
N
S
N
oAl
..FPH&J
TR
W.WL,W
z) 5%
4
\
o
3
| i

156

==

Lk
ol
»t

===
p

Lk
ol
puf

sz o



8

Violoncello

[ dilP=

164 O [Poco piu mosso 4 = 104

169

-~
.

P Tempo primoJ =132

arco

pizz.

174

Lk

hi

pizz.

"4

178

arco

184

-4/

af

o

arco 4.

pizz.

>N

188

i Lo 42

-

to

o

/\
-

195




Violoncello

D = Hg

=

D = Hg

=

201/R

205

D = Hg

=

D = Hg

-

arco
... I\

1071

pizz.

o

pizz.

209/S|

arco
/e

pizz.

213

[e]

arco
“—

217

b ||

o dm A~k

I/
=

I/
=

220/ T

224

1/

227




10

Violoncello

236|V

-
i

240

~T g
/K]t

i

244

I/
T .

g Ak

N

N

~

[y
o Lt
=

248

xT .

B |
2y

fe -

at I8

252

19




11

Violoncello
256 X i
yGe > 2 _— e e :
7-q—1 Z A e Ze 3 — i
T J T | %
> >
stz stz
2 ) . ‘ . - pizz. .
59 _ - . _ > - = #:5 = ﬁ; ) + arco p_|1_ZZ
A . ‘)V!P < ‘_; - N
iﬁ%ﬁ £ %4: ° 8 -—r
T T
stfz stz stfz stfz S
262 arco p_li_ZZ- arco p_'i_zz. arco
k} . N 14 i i — u.*
I D) 0 K = P— b y
Ig b - -I ! . | /- | | |
© < 2 e #e ~— I —_—
& =
265 arco pizz. arco pizz. arco pizz.
hd l: [ o P [ [ o ;:_ .f 5-; o 7 o r ] 7
~ —y 'rjf- D £ N — ﬁ! ) — & P £ N
U 4 =y I L o

268 arco pizz. arco pizz. arco Dizz. arco Dizz.  arco Dizz.
- N+ + A + +
'Y . / A\ | ] | A\
Vv T e e R e . - | N
1] o | i
L zeze 7 fe o T4 o <
S -

N

271 arco . ba
: I '

M~
M~

N
v
N




12

Violoncello

274

|
bl

o i

Lk
oA
"

Fe

Hg

277

fe

pizz.arco
+ |

He
4

P1ZZ. arco
+
1L
- 1

rco ﬂ:-o #ﬁ

ol

|
L
|

pizz.a
+

281 =~

pizz.
+

arco

Lk

P1ZZ. arco
+

P1ZZ. arco
L.
L
bl

+
o
|

285 =

——

$1-A

$[e-A

arco

pizz.
+

P1ZZ. arco

288

4

T — #

$7%-A

$7e-A

291

295

Niby



